
Male/Female Warden. SC Devlp/Store Issuer Gr. II -KSRTC/Store Keeper • KSFDC 
Ltd/Matron Gr. I - Social Justice 

Medium of Qu stion: Kannada 

Date of Test: 20.01,2018 

011/2018-M 

Total Marks : 100 Marks 
Time: I  hour and I5 minutes 

I X 

2 A 
3 A 
4 D 

s B 

6 c 

7 A 
8 D 

2. "The Master as I Saw Him" 8600,0l4,399 ·/,,am? 

(A) 0up2l la,00ad (B) 0ugo6and 

(c) auld clannlc (D) 6nl. «y8. al0d 

3. 0le1ml6a} 05gJ 

(A) a0lo0l 

(C) auhnc lo» 

I. 0o» op)-pl. aolurlol 1»}j 0u.00 

(A) as coe (B) coos eogel 

(C) «08ca.can3r a»6,,one (D) ooe 

4. 60mo a16100 u0l ta nu0so 0g,lo 

(A) 1goo (B) alp,pep0us 

(C) 00l0y 0loeea (D) o».goal 

5. 2017 cay.g, 66o»eo)el ca»ala «lslo»lr no» uo60ru6 66nu6a 1pond 

(A) cl ea» «al (B) el ae am6 

(C) 0d0 0,,o (D) l a,oh.cl 

6. 6000060 a»66em,o». 

(A) 0mg 

(C) 516mo 

(B) dang 

(D) 0uo0m 

7. 0udood gee al0s0 oooots l00on.go 0ucll 6a 3, 0Tucee 

(A) 0a.00030260.00203 (B) o&Depa9o 

(C) 66n1 (D) £1MY 

8. 'l6600a 1an oat gos' 

(A) 009 sl.6». 

(C) 00y arg 

A 

(B) 2l6mu3 amno 

(D) 0s41l 0ooa 
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9. 5lo»cool «sla» o lop,6lau3as oomuanal mg,oogg oaoag audo6o a urol 

(A) auo@ mooul (B) olypo0 

(C) nne1 ,»)go (D) ale» 

10. arnr» coy/19«0l ATM mural,40 00 6n120,6m 

(A) a$34-p.nl.ml. (B) pm.snl.ogp)­ 

(C) 6nod0go (D) 0»0mo sne» 

l 1 .  6o»3l a0so 6ncola cu0loco @Dagolor1 a)(00woo? 

(A) 4 (B) 8 

(c) 5 (D) 6 

9 x 

10 C 

II B 

12 B 

13 C 

14 B 

15 D 

16 Xx 

17 B 
- - 

12. 2017 or1 pm1o asoa.cl «a»loo, 20rule gag o00ososm anoeae pg na0loo? 

(A) glee» (B) «nal0urod 

(C) 6omascl» (D) au aoya0loo 

13. '$ogcoloe1 0pamnsl' 

(A) er gl 

(C) avaooeal cocoh 

14. (ta2a1yo 00l @one0la6)ao 

(A) 6a00,6 016 

(C) 0or0,ai 

(B) a»aen au, 

(D) 06l €a1leol 

(B) o00 0a01 

(D) 0up 

15. snlsla4,»dos g cola aoolassel10 a3, 1cl au00yp, a»Caul» 

(A) 000 pal (B) lc aat40»0)6s Erle 

(C) al,u6 cral (D) 0au acne 

16. £1gl £1 (0860932l0»,6S 030Tu0.00% 

(A) 0g0a.0l 

(c) @9g3° 

(B) 0l10a.,o 

(D) 0»0one 

17. 'a9)s06' $Mi Ulen00,00ml @0.00061m006m ? 

(A) up oleo (B) la Glen,yo 

(C) 00( 0lc0co,o (D) (ala ulenco 
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18. '60gJo-a6Yl' /ukpa nc 
(A) NH 47 
(C) NH 49 

(B) NH 208 
(D) NH 220 

I9. '«nlsl+ @oyad coauocular2a» '60} 9y/356 muhund 
(A) 000100ouc scud (B) 0l(0ou0 sud 

(C) 00000»0 006n (D) 00e20 0aa003 0o0» 

20. 'g391 uomul' «gaol06n5,0 a.000 

(A) a0mu cocl 

(C) a34- +$)01. 0»jd, 

(B) 6a0». a$). «16mlo 

(D) 69). 69». 60»,00d 

21. 2014 03 0l 6a.6 0u0ucoco 

(A) a0lo6 (0nuo 

(C) 0woamu 

22. '6muoooauol layosypa 0air 16x a»ol,4pg 00' £1aa1y,00al2,gg »0l-and 
(A) anuo. ul. «p. 00»,0mo0l (B) au. £11amvpal a,e loo 

(C) 0A00. 0000a6mad (D) goo,gJ 

23. 10ca»le lo» eovoargowpg oielo 0uo 

(A) 60Gangl0d 0uo (B) oauoae rag 

(C) 0us (D) rs8mo 
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II D 

19 C 

20 D 

21 D 

22 B 

23 A 

24 C 

25 D 

26 B 

(B) 0.762 2lgd 

(D) 1 al ,d  

(B) 0l10a.,o 

(D) 6100Yo0ls 

A 

26. 0,060 0om 

(A) 0urn0lox as,l3,p29 « 100% 

(B) 60olenglu0a ta.uo0yo 

(C) 04, 0A1 

(D) 00llg9o oy9 ye0go a10llcaoco le0160g, 

s 

24. 090a,sl 600s,2,5l a elgle 1am ? 

(A) 000OS 

(C) 62s,0ol 

25. lgaue angau «ale 1,gg oeo 

(A) 1.678 lgd 
(€) 152 2lgd 



27, pi0erg uo0o1am loo 

(A) 1986 
(€) 1937 

(B) 1912 
(D) 1930 - 

. 

27 A 

28 C 
29 A 

30 D 

31 B 

32 C 

33 C 

34 A 
29. @Docloe1 umla» ollole 1gg 09y/31,600 6n.16» 

(A) 6nn6» 60ac a0l0,ucad (B) snne» 6a0 5Dos 

(C) @pd ans» (D) ao0 anoe» 

28. '66»0DY30yR Dee clc o' aurlol 6ea 1go 0uo0uco0o 

(A) oeuroad (B) Ge2om 

(C) 08,,so» (D) @om ti0nu 

30, 00»M0gm9l6€.1 004 60096000,, 4GO 1a+61 »go 

(A) ·rs2ml (B) 0a,p?' 

(C) 0l,1a61,o (D) 0»,Ro0»,go 

31. @Dolor1 09y/36010 @Dodo ao»mn ml aural,/0 

(A) 1919 (B) 1818 
(C) 1956 (D) 1912 

32. 0lx0 oo,,ooln « loo 

(A) 042/0g 

(C) «olg,ops1l 

(B) auosl 

(D) a»rsle1ad 

33. 006 a100}gm0k a30 (Tue150000165 (010Y60g06m al1001»U (loa 

0l050le1as 00l,40 ? 

(A) Ctn» a008 

(B) «1lad 

(C) 0 a»lava 0earl voe ncad 

(D) «a,,9 a0o6 

34. gycol «eygo00l gbe teas»asosmla» ao19lu c0(» g 00oul,4 0uuco0? 

(A) 0go (B) er 

(C) 0al4mos' (D) a0oo¢ 
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35, a9RO ala re· 0voe1 uc le»0 

(A) 01al 0olsosll 

(C) oil. sl. as0lolps 

36. '000s0socangl ' po; olcuo-al loo, 0uoo 

(A) «16126n1 (B) 02lgaos 

(C) a6an1 (D) 0a0go 

37. 1953 03 0016n60} co0uco0 a.1auoes0 »0ls60 l0»l3,4. 0»20la0 6a 10o0 

(A) 9)4- a3)0d. a»co, (B) coal cocl 

38. 16nend ala403 6mo6a0pl (LMS )0)6s (a 01ox at1 

(A) 0l,10a.,o (B) 6003)l 

(C) a06nod 

35 X 
36 C 

37 B 

38 A 

39 D 

40 C 

41 A 

42 x 

(B) 1 H  26ml 

(D) 9026ml 

(B) l. sl. as0lls 

(D) 1o 0o61,/ an00 €10l 

(B) ol. auound 

(D) «yd. a0l. anneal 

39. ala cols 09on,aoco» mo/ 00006000000l 90au0mo 0solo 
0y ? 

(A) 0d e263 20a1+0 

41. 'Goy/200lo' (elul»0l,40 0101000 

(A) 0»y0oao asp loom a11 

(C) 0a «00oea 

40. 00;Ong (0ulao 0on),65 0,506 

(A) 10 6ml 

(C) 12 6ml 

(B) 1-o»0lpds 

(D) 4- 0lpds 

42. 18- 068l60} 0mo100aoas antouogloe1 all (060gla 0sa 0»,0ya6g 

0»,l,/ @ooh1 g, 0oar 

(A) 5-» 0l0pds 

(c) 2-» 0l0-pds 
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43 D 
44 x 

45 C 

46 D 

47 B 

48 B 

49 A 

50 C 

(B) a0MT 

(D) Guo 

44. '0nil1a coys oral' aurlcl 6a 1g3 0urr1% 

(A) coo»,go (B) aoane lo 

(C) a»,8eo 

43. gyolor1 en6m» 0voyoey 

(A) o»l 

(C) aaom1o 

45. @0yd e6me1sc,6s 08yo01 

(A) 2£lo» 0»,520» 

(C) 0821,a1 

(B) €la» 0101»,060N 

(D) 0a0y 1»0au 

46. $05/0l 019910»000 0606m cl0a clc nil 1mc 

(A) 1992 (B) 1991 

(C) 1990 (D) 1993 

47. co»og olacue la 

(A) 0o0}. a0d 

(C) «$0. 0a0ad 

(B) @lo2o»gisa 

(D) el. 40la0ad 

(8) 5 

(D) 4 

48. gD0go (e uo0al 00( 00al a4, 000ol,/6p omua} logs 6n0lo01,) a3)00 

a»no0l3 (gsrsl) 6917? 

(A) I 

(c) 3 

49. 0ue,9 094 

(A) 1773 

(C) 1775 

50. GST 

(A) Goods and Sales Tax 

(C) Goods and Service Tax 

(B) 1774 

(D) 1776 

(B) Gods and Service Tax 

(D) Gods Sales Tax 

5I. o»0gorloe1 '6mce noon' 

(A) «mr 1g° 

(C) 0»s 
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52. sloe1 a,3, ·906o6)a 0TD 0,oeoo' agp)ea0ua 

(A) »080as (B) (an1661 

( 000)\ (D) 00ca.ol 

53. au,t lo oosclplae1 6r90yo0lo» @a14 

(A) @20h (B) a0lal 

(«c) 20 0go (D) 2000l 

54. @0Gp960 a,os @110l 

(A) 2l00»,20 (B) 00o 010 0a.0l 

(C) (16man1 2,areal (D) co0aool 

55. 0a»0g 80am ail110»0061 0»lion 0au oA10 

(A) «lamoocol oleo0d (B) el. au,a00»0nd 

(C) 0020 0a0le1 (D) l. a9Tu. 010a1\,9001010 

56. 'ml corl' gp1 lpospoau a1ucl ale0me 6a1006 018yo ' 

(A) 6ma0, (B) cl a10 

(C) 01@g60o (D) Gomleal 

57. ne1on 80a?es0 08au0l 6egg,T0lg 070K0lo»0o 

(A) 0a06 360 (B) 0m0,0a00, 368 

(C) 0/a00 386 (D) «000,0a.00» 306 

51 C 
52 B 

53 A 

54 B 

55 D 

56 D 

57 B 

5 C 
59 D 

.. A 
«% 

• 

58. 00le 10g)6$ 21009001 

(A) o1010003 00le 1~ (B) 0»,R000 00le 16»~ 

(c 030y0a0 0le1»~ (D) $Do0o0mpg,J 

59. nee1-0106-D »pale 

(A) 1941 (B) 1936 
(c 1931 (D) 1946 

60. 'aoaw oolo ooea(oa0l' pam «snlsla4a0 lauall3.,4 
(A) 0uaeo» g16m 0uo616L (B omleal 

(«c) 6000, (D) 00.soc0 001000el 
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61. They are neither brilliant, nor hardworking. ? 

(A) aren't they (B) are they 
(C) weren't they (D) were they 

62. Neethu as well as her friends honoured. 
(A) is (B) are 

(C) have (D) has 

6. Neither the boy nor his brothers happy. 
(A) is (B) has been 
(C) are (D) have 

64. You had better to the bus stop. 
(A) walking (B) walks 
(C) to walks (D) walk 

65, If had my breakfast, 
(A) I would not be tired (B) I would not been tired 
(C) I would not have been tired (D) I would not have tired 

66. Teacher to the boy "consults a dictionary". 
The indirect form of the sentence is: 
The teacher asked the boy 

(A) that he may consult a dictionary 
(B) that he may consulted a dictionary 
(C) to consult a dictionary 
(D) that he consulted a dictionary 

67. We could not the inscription on the wall. 
(A) make out (B) make up 
(C) give out (D) give away 

61 B 

62 A 

63 C 

64 D 

65 A 

66 C 

67 A 

68 D 

69 B 

70 D 
. 

- 

68. The lady kept arguing with the shopkeeper. 
(A) with (BJ about 
(C) along (D) on 

69. One of the children intelligent. 
(A) can (B) is 

«c are (D) have 

70. 2 kilos of potatoes nothing to carry. 
(A) have () are 

«c were (D) is 
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71. The passive form of They have done it" is 
(A) It have been done. (B) It have done. 
(C) It has been done. (D) It has done. 

72. By the time the president came, 
(A) the inauguration has already been started 
(B) the inauguration had already been started 
(C) the inauguration was already started 
(D) the inauguration was already being started 

73. This belongs to the lady we met in the train. 
(A) whom (B) who 
(C) whose (D) where 

71 C 

72 8 

73 A 

74 8 

75 C 

76 D 
71 D 
78 A 

79 C 

80 8 

74, Blood is water. 
(A) thicker to 
(C) the thickest of 

(B) thicker than 
(D) more thicker to 

75. The American equivalent of British word "curtains" is 
(A) hangings (B) hangers 
(C) drapes (D) laces 

76. Choose the correct spelt word; 
(A) Maintanence 
(C) Maintainance 

(B) Maintanance 
(D) Maintenance 

77, It was the peak hour of the day. he had to stand in the bus. 
(A) Yet (B) But 

(C) Because (D) So 

78. The antonym of 'accurate' is 
(A) inaccurate 
(C) disaccurate 

(B) unaccurate 
(D) None of the above 

79. Which of the following is not a synonym of 'disciple'? 

(A) Attendant (B) Adherent 
(C) Agnostic (D) Acolyte 

80, What does the idiom 'to cut corners' mean? 
(A) To hide something from someone or somewhere. 
(B) To do something badly or cheaply to save money or time 
(C) To say or argue thoroughly. 
(D) To save something very expensive. 
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81. 6me al6no 4 :  I  a$x  co06anml 0a1d0 0,06n3yo»lQ 96n80a6mo. 40 06 
0la0l 90» a006 061 0a1006m? 

(A) 10 (B) 200 

(C) 160 (D) 100 

I 
82. -=-7 066me»la .x agpxm aua1g a@)xoocolla? 

• 

(A) 
I 
7 (B) 7 

(C) -7 
I 

(D) 7 

83. 60, 0o0la»load oil»6me0g)6s 0lgas 10 oual,o I5 0al,o 09y/0oa 

0lox a,[21 a900? 

(A) 150 em 

(C) 300 em 

84. 6900060 e»66ner,e». 

(A) 63 

(c) 23 

(B) 75 em 

(D) 100 em 

(B) 13 

(D) 43 

- . 

81 A 

82 D 

83 x 

84 A 

8s C 

86 B 
I 

85. 60duos0 0l 6$0? 

(A) 0.4 (B) 0.725 

(€) 0.25 (D) 0.257 

86. 60} 0g»0 10.10 6gm auace a»,smloo,am nu alas a,al, amload opal, 

0le 1pg 0006mgor agp0 ? 

(A) 120° (B) 1 15° 

(C 117° () 105° 
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87. n, 2n, 3n, ..... 60 0a00o cg3sml@color1 0sd340«0» «10a0go000 09yamlo,0s 0» 00, 

01yo0o «p0 ? 

(A) n 

(c) 2n 

(B) n 

(D) 0 

-- - 

87 A 

88 B 

89 C 
90 B 

91 A 

92 D 

93 X (D) 180 

(D) 6778 (C) 6787 

(c) 120 

89. 180 6} 2% 6p0mo 0 0o61g002,60s 3% 01)6m. 

(A) 100 (B) 360 

88. 'FEED' a$Mm no 00on00oul5,j 5443 6$)60+9060.la3 'HIGH' 9)01 0n06 a$606m 

a$)996o»? 

(A) 8776 (B) 7867 

90. oe1 au 1 0llon t no, 0olon} «pc0lend a; saocol). one, 

an+o o»who0an gr 6na, s600»,p. 00,0lon, @Doe pr6or tea » ,$y0Yoo am ? 

(A) 6 (B) I0 

(c) 12 (D) 8 

91. 1 8 x 5 - 4 + 1 5  + 3 + 8 -= ?  

(A) 99 

(c) 97 

(B) 90 

(D) 91 

(A) 500 m/sec 

(C) 180 m/sec 

(B) 300 m/sec 

(D) 50 m/sec 

93. 8 00}  0993\0001 20 0,6ml060g)65 0000000l ag)(0? 

(A) 200 (B) 168 

A 

(C) 210 (D) 88 
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94. @Day9sloloc1 os}r au9a1, $0? 

1 ,8 ,  27, 64, . 

(A) 25 

(c) 91 

(B) 128 

(D) 125 

95. x pc +,- agpymc x, + pamc +, + 6$)0cg 0 oy0/0 ( 2 - 8 + 1 6 ) x 8 - 2 any0 ?  

(A) 8 (B) 10 

(C) 12 (D) 2 

96. 6009l60 0cool 6, 0l a0a, - "cc02g)65 000 0)601} 000c0la0,6s 600 60, 

2a»0am " ape»la 0l op0og,6s 0n@yo6m? 

(A) 0 (B) avca0l 

(C) 0o 

97. 1 0 :  IOI : : 2 0 : ?  

(A) 201 

(c) 102 

(A) 

4 
(c) 525 

(B) 400 

(D) 401 

2 

(B) 5 

25 
(D) 4 

94 D 

95 A 

96 C 
9 ¥ 

9% A 

.. 
• 

100 D 

99, 0021, 60, 0000006 20% en8ml3 360 0; 1lg}, ape»la oral le1 a3)0» ? 

(A) 340 (B) 300 

(C) 280 (D) 380 

100. g»9lor1 «om clenno asla»cola 060 2,a»gl3 «la, 60- 6o20,e 06 «la 28-2% 
0ur 0r, 9y6mi. a90l 49,l 0a» a9)00 0»5loge? 

(A) 37 (B) 35 

(C) 30 (D) 36 
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